Chapter 10
2, Solution:

(i)

f §x) = 25n (x +sin x)? Jcos((x + sin x)? Jx2(x + sin x) {1+ cosx)
(vi)

f €x) =31%(cosx)*™ * - sn x) = - 31 sn x {cosx)**

(ix)

f §x) = 6(x + sin® x)’ {1+ 55n* x>cos x)
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6 Solution:

(i)

f {x)= g{x>g(a))xg(a)

(iv)

f{x) =g(x)(x- a)+g(x)

(vi)

f(x+3)=g(x*) 0 f(x=g((x-3)) 0 f¢x)=gd(x- 3] p(x- 3)
8 solution:

2

Since the area of cirde is S=pr?, we know: Sage =Pliage » S =prsman2 and

small

Sarge - Ssmall = % :

S age ~
The circumference of small circleis C = 2prg,,, = ZpJLa” = 2p1/M :
P p

Thus, C= 2'\/5(5 age %)%
Then, C¢= '\/E(S age % )% S(Erge
We aready know S, =10p in®/sec, S5, = Sy 9 =25 in’

Co=p (Suge - D) 758, =P (250 - ) 710p :gp in/sec
9 Solution

The distance between A andBis. D = \/(Xa - Xb)2 + (yal - yb)2 .

Yy = A3%, X% Y, =9y, =0

\ D =% - 2%+ X Y, 2YaYs + Yy
= \/Xaz - 2Xaxb + (Xb2 + yb2)+ ya(ya - 2yb)
:\/xa2 - 2%, % +9+0 =\/xa2 - 2X % +9

Look these variable as function of timet, then:

D) =%, (1) - 2x,(t)%,(t)+9

- 26,0%0- 28 0% 0 + % 0% 12

D4t)
2,/%,2(t)- 2%, ()%, (t) +9




X (0%, (1) - X 0%, - % 0%
V2 - 2%, (0%, (1) +9

On the other hand, we know B is belong to f (X) =-+/3x and the distance from the

originis 3, then, at that time:

Yy =-/3x i g%l) 9(43-1)9

, , yb Bis T
Xy * Y :9% 2 1)
We know at that time A is at (5,0) , aso, A moves along the horizontal axis with speed of 3,
v _ Cn
P X (1)=3Y,()=0

so, Dt = %% O - X %0 - %, (0%, ()
%0 2, (0%, () +9

a3 ¢
53 3X5(\/§' 1)- (1) 39- 9.5 - 10x %)
49- 155 2/49- 155
- d 3

. yb:- 3XbU d_if’:-Z%

3 dy, 1

=—\W5-1b =-
=306 1 5 J2{5- 4

*. B moves with a speed 4
dy, _ 4 dx, _ 4y2y5- 2

\ = k- I
dt 2/5-1 dt 2J5-1

¢ . 39- 95 - 104—“2‘/—5'2
D(t) _ 39- 9/5- 10x, t) _ J2J5-1
dt 2./49- 155 2,/49- 155

» 1.8917
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